BE == minssmem

CRniR 31 [E 5 B 5= BT K

[ e 2 e B R R T B R E T R R RSIA, BT IH
WA PR . DRI, [ g B3 7 BT IR SR I K FH O DR SR 7 VA I
{FOUERAFEEIF IR, —BAKH NS k.

(327 1] GnRBA MR R, BIA VT IH & AP~
AE IR —EH, HEIENHBRAESRHEE, BTHIENL
KRR, ANTHE. MEBEFEHREA (EERIEHH K
B3t AR H D) I

[E7-2] €T =R RR A LTI, BP4S4E A IH
B BRSBTS AR



SR, XIAERLSIE

SRR, REZHA

A on AN B O Bt BB RO, it UL S RLAR
& PEEUE /I TG SR

FEIEF

_ ieHBIlER RHER 8 + ENIES RHEIR 8 - LS H R EIE
FEIEFH




BE = sinpmem

HE T REHFERATT AREKN, NEEHIeEE
BH:

L IH&& AT E. X FH&imns, Hrmshr
R BB I, BRI T IHE& s, Hiy
T P E B [H e 1 = B A B BLME

2. % IH R AR AE AN o FRAE AR A N AE 9 B & 3 1Y
IR

3. ¥ IHW & MEE B A . BIEFTIRA . WL R RE
HUENE LS, NAF BRI A B AR



BE == sminnwmem

(011 ZRABIBIAIHKE— G, BT R FHE,
S T UUEH . ML IN15%, B SRR y25%, N
IV 2% & I A9 B 0 BN 4 Ui B 1 B e

TR 73T H 5 2% TRl FAAL: TG

IH#t % ik

JR A 35000 36000

o3 A == FR 104F 104F

241 R 44 04F

Bk {E 5000 4000

B AR R R AE 3500 4200

H i WHE 10000 36000

FESTIHTE (HZLE) | 3000 3200

BEFERA 10500 8000




(1) #FHik&
RO B & 1WA 43600076
izl BEITIHFLFI=3200 X 25%=800 (JT)
FAERLG I8 A =8000X (1—25%) =6000 (7G)
ALEW: B RMEFIA=4200— (4200—4000)
X 25%=4150 (JG)
L4V B S B =36000+5200 X (P/A, 15%, 10) — 4150 X
(P/F, 15%, 10) =61071.88 (JT)
4 A=61071. 88/ (P/A, 15%, 10) =12169 (JG)



(2) [HiE%
B HE &R ED=10000+ (23000—10000)
X 25%=13250 (JG)
izl BFETIHHEBI=3000 X 25%=750 (JG)
REREBEIZHEA=10500X (1-25%) =7875 (JT)
AW AR BRAEF I =3500+ (5000—3500)
X 25%=3875 (JG)
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& B BE=13250+7125X (P/A, 15%, 6) — 3875 X
(P/F, 15%, 6) =38539.4 (JT)

4 R A=38539. 4/ (P/A, 15%,6) =10183 (JG)
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C. 320 D. 140
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it AL E K E P E=1000—800=200 (/Ht) ZF
PRI A= (200—120) X25% =20 (Ji70) BEAASP P2
HII 4R =1204+20=140 (J370)



